8 September 2023

Phys 111 Fall 2023

Question 1

A ball follows the indicated trajectory. lts
positions (units are meters) at two instants
are indicated.
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Which of the following best represents its
average velocity between the two instants?
1. Vavg = 0.5m/s

2. Vavg = 2m/s

3. Vavg = 2m/s in direction —

4. Vave = 2m/s in direction <—

5. Vavg = 0.5m/s in direction <—
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Question 2

Various balls follow the illustrated trajectories. Which balls have the same average velocity
in the interval from 2s to 47
Ball A
RSN 1. All have the same.
/, ‘\ 2. None have the same.
25 @ 4sQ
,:' \ 3. A and B.
4. B and C.
Ball B
S VP —— Q-- 5. A and C.
2s 4s
Ball C
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45 2s
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